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	I can solve problems involving finding the area of a semicircle
	
	

	
	I can solve problems involving surface areas of cuboids
	
	

	
	I can distinguish between formulae for perimeter, area and volume by considering dimensions
	
	

	
	I can calculate the surface areas of cylinders, cones and spheres
	
	

	
	I can find the surface area of the frustum of a truncated cone
	
	

	I need to practise …


Grade C: 1 to 7 marks

Grade B: 8 to 9 marks

Grade A: 10 to 16 marks

Grade A*: 17 to 21 marks


Name:


3D SHAPE: Grade A





Key descriptor: Calculate the surface areas of cylinders, cones and spheres





Score: __________/21		Grade:______





The logo here is made from a large semicircle (of diameter of 8cm) with a small semicircle (of diameter 4cm) removed.  Find the area of the logo.
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1.	

















____________cm2





2.	A cuboid is of length 8cm and breadth 6cm.  Its surface area is 180cm2.  Find the height of the cuboid.








____________





3.	Circle the formula that represents the surface area of a pencil.  r, h1 and h2 are lengths.





A:  (r2h1 + (r2 + 2(rh2�
B:  (r2h1 + 1/3 (r2h2�
�
�
�
�
C:  (r(h1 + 1 + 2h2)�
D:  (rh1 + (r2 + 2(rh2�
�



Give a reason for your answer:  ______________________________________





________________________________________________________________





________________________________________________________________





3.	A basketball has a diameter of 9.4 inches.  What is the surface area of the ball?





__________________





4.	In the cone here, h = 12cm and r = 5cm.  


� INCLUDEPICTURE "http://mathworld.wolfram.com/images/eps-gif/ConeDimensions_1000.gif" \* MERGEFORMATINET ���


a)	Find the length of s.


____________cm


What is the surface area of the cone?








____________cm2





5.	The height of this frustum is 20cm.  If R1 is 30cm and R2 is 15cm, find the surface area of the frustum.  Show working on the reverse of this page.





�


____________cm2








____________




















Grade C


3 marks














Grade C


2+1 marks





























Grade B


2 marks











Grade A


3+1 marks





























Grade C


1 mark








Grade A


3 marks























Grade A*


5 marks


Total = 





_____/21





Low                High


 O   O   O   O	





Overall, for this homework I think my success level is: 





Overall, for this homework I think my success level is: 





Low                 High


 O     O     O     O	








